UMLLD 5 : 6T6dT [Hlémearailev

U@L : |
UmLLD : SLOILD

3l) BLULL 6T(p&gISemen HFLLS

1. WIT6D) 60T
2. GQUITLb6mLD &\
3 LL,6M60T &

4. Beor v

5. [BITLI

9. FHlWMET Q&TELEVTE (S 5.

3. HeUg)

4. UL_LITLD géaﬂ

5. iMGHems




. 2 uIFALOWI 6T(PGHEGISSHm6T euflen&LiLilg. 6T(LD ).

9) 'Y - RNE:

& +0 = MG
Rl + & = 60IR
F + M = 0F
€ + & =6MEh
L + & =6l
6001 + €3 = 60)6UUI
& + Q= M
b+ & = b
U+ & = enU
D + & = 60D
w + &g = el
J+ & =60y
6L + & = 606V
6l + & = 606l
D+ 8 =@
o + & = 6me6n
M+ & = oD

60T + 63 = 6I6TT

3l) 6@’ - €M F:

& + 6@ = Q&M
R + 6@ = GIRIT
§ + ¢ = Q&gnm
6 + 6 = QEpIm
L + 6 = QLm

601+ €2 = Gleworm

& + 6@ = Qg
b+ e = QT
U+ 6= @Qum
b + 6@ = QoM

W+ 6@ = Qi
T+ e = CIgm
6L + 62 = Gleom
6l + 62 = Qleum

QLpm

D + 62
o1 + 6@ = Glenm
M + ¢ = Qo

60T + €2 = Gleorm




Q) '@ - mF: IT) '66T - 6605

& +6p = Gom & + €6 = Q&ern
M + 6@ =CmIT R + €6 = GlRlen
& + ¢p = G&nm & + egerm = GlFen
© + 6@ =CEpm € + &6 = GlEher
L + e =06GLM L + epam = GlLarm
6oor + 69 = Gevorm 6001+ 6961 = Clevorerm
& + g = G & + geen = Cgen
h+ e = GBT b + epem = Gmen
U+ e = Gum L + egam= Cluen
b + 6 = GLom D + e@am = Gloar
W + e = G W + epam = Gluler
7+ e = Gom 7 + egem = Gyen
L + 6@ = Geom 6L + egam = Glevern
6d + e = Geur 6l + epam = Gleuar
D+ g = Gom D + e@en = Gliper
o1 + 6 = Germ 61 + epen = Glaren
M+ e = Gom M + e6m = Qmer

601 + 6 = Geurm 60T + 6961 = Glevrean




H$SHSLU Luim&
3l. HlpeL QRICH e1(1p5 G| 6TThICS HITLILS.




